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Program Evaluation and Review Technique
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PERT CPM

(Network)

Arrow Diagramming Method (ADM)
Activity on Arrow (AOA)

/ Precedence Diagramming Method
(PDM)
Activity on Node (AON)
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CPM=S->B->E->H->J->Fn

PERT CPM

ACT | ES EF LS=TF+ES LF=TF+EF TF FF |F=TF-FF CPM
s 0 0 0 0 0 0 0 *
A 0 3 12 15 12 0 12
B 0 7 0 7 0 0 0 *
c 0 3 7 10 7 0 7
D 3 7 15 19 12 12 0
E 7 12 7 12 0 0 0 x
F 7 11 10 14 3 3 0
G 3 7 10 14 7 7 0
H 12 14 12 14 0 0 0 *
| 12 16 15 19 3 3 0
J 14 19 14 19 0 0 0 *
Fn 19 19 19 19 0 0 0 *




PERT CPM
(Least-Cost Time-Cost Trade Off)
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ACT |S| A B C D E F_[Fn
Duration Norma [ O | 4 8 3 10 | 8 7 0
Crash | 0| 2 5 2 6 6 4 0
Cost Normal | $0 | $400 | $800 | $600 | $500 | $800| $700 | $0
Crash | $0| $500| $980 | $700| $600| $950| $1,000 | $0
OverHead | $100 | $0| $50 | $60 | $100| $25 | $75 | $100 | $0




PERT CPM
(Least-Cost Time-Cost Trade Off)
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PERT CPM
(Least-Cost Time-Cost Trade Off)

Fn

S O A,B, S B F
CD f
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A 6 Fn \ C E
N .
B 6 F y 3
C 4 E I
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ACT | S| A B C D E F G |Fn
E 3 F Duration Norma | O 6 6 4 6 3 2 2l O
F 2 G Crash 0 3 4 2 3 2 1 1] O
Cost Norma | $0| $300| $450| $360| $600| $325| $250| $310| $0
G 2 Fn Crash | $0| $360| $500| $420| $675| $350| $285| $350| $0
OverHead 60
Fn 0
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